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Jaksot 1A & 1B 1. vsk.

Jaksot 1A & 1B 2. vsk.

Jaksot 1A & 1B 3. vsk.

1|May01.1 May01.2 1|Ena04.1 Ai05.2 1|{Rub17 (Ue 04 its)
2|Fio1 2(Maa05 2|Ai09

3|Maa00* Mab00* Op01* 3|Rub13.3 Ena04.2 3|Ke06 Ps05
4|Rub11+12.1 Aio1.2 4|Hi02 4|Ena09

5|Mu01.1 Ku01.2 5|Yh02 5|Maa10 Mab08
6|Ai01.1 Rub11+12.2 6|Te02 6|Maa14 Mab11
7|Rub112* Ai12** 7|Ps03 Lio3 7|(Bi07 its.)
8|VkbSa31/VkbSa34 8|VkbSa31/VkbSa34 Fy05 Ku03 8|Hi07 Li03

9|Kop01 9|Kop06 9

Jaksot 2A & 2B 1. vsk.

Jaksot 2A & 2B 2. vsk.

Jaksot 2A & 2B 3. vsk.

1|Maa02 1|Rub14.1 Ena05.2 1|Ai10.1 0p02.2
2|Ku01.1 Rub11+12.2 2(Maa06 Mab04 2(Enans

3|Rub11+12.1 Ai02+3.2 3|Ue02 3|Maal1 Mab09
4|Fy01+02 4|Bi02+03 4|0p02.1 Ai10.2
5|Ge01 5(Li02.1 Li02.2 5|Maal12 Ue03*

6|Te01 6|Ai05.1 Rub13.4 6|Hi03

7|Mu07 Kuo6 Ai14 7|Mu07 Ku06 Ail4 Ke03 Ps04* 7|Mu07 Ku0é6 Ai14 Fy0s*
8|VkbSa32/VkbSa35 8|VkbSa32/VkbSa35 8|Ps08

9|Kop02 9|Kop07 9

Jaksot 3A & 3B 1. vsk.

Jaksot 3A & 3B 2. vsk.

Jaksot 3A & 3B 3. vsk.

1|Maa02+03 Mab02 1|Enan5.1 Ai06+07.2 1|Rub18
2|Rub13.1 Ena01.2 2|Maa06+07 2|Ai11

3|Ai02+3.1 Rub13.2 3|Mu02 Ku02 3|Fy09 Ps09

4|Ena01.1 Ke01+02.2 4|Ai06+07.1  Rub14.2 4|Maa13 Mab10
5|Fy03 5(Yho3 Bi04 5|Ue06

6|Ps01 6|Fy06 Ge02 6|Hio6 Ke07

7|Yho1 7|Lio6 7

8[Mu03 Kov01 8|Fio3 Yro1 8(Bios

9|Kop03 9|Kop08 9

Jaksot4A & 4B 1. vsk.

Jaksot 4A & 4B 2. vsk.
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Maa03 Mab03 1{Ena06.1 Rub15.2

Ena02.1 Aio4.2 2|Maa07+08 Mab05

Ke01+02.1 Ena02.2 3|Ge03 Kuo4

Bi01 4|Rub15.1 Ena06.2

Li01.1 Li01.2 5({Te03

Hi01 6|Fi02

Op01* 7|Bi05 Yh04
VkbSa33/VkbSa36 Li08 8|VkbSa33/VkbSa36 Ke04* Ps06 Li08
Kop04 9|Kop09

Jaksot 5A & 5B 1. vsk.

Jaksot 5A & 5B 2. vsk.
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Ena03.1 Mu01.2 1|Maa08+09 Mab06+07
Maa04 2|Aios.1 Ena07.2
Ue01 3|Enan7.1 Ai08.2
Aio4.1 Ena03.2 4|Rub16
Fyo4 5(Bio6 Hi05
Hi0o4  Li05 6|Ke05 Ps07 Li05
Ps02 7|Mu04 Fy07

8|0opo2
Kop05 9|Kop10




